Foot Mounted B3 LA+ |+ BS Flange Mount B14 Face Mount

W

X
35

el [ = e
[ -
<
1 | =y r-
Towll- g'ﬂ“ i ]
Mounting Shaft General B5 Flange
63 100 80 40 63 119 7|11 23 4 85 10 Mdx10 |126 - 169|115 95 140 10 30 7 |75 60 90 M5 25
7 112 90 45 71 131 7|14 30 5 110 20 M5x125|140 - 186|130 110 160 10 35 7 |85 70 105 M6 25
80 125 100 50 80 157 10|19 40 6 155 25 MEx16 |158 132 212|165 130 200 12 35 12 |100 80 120 M6 3.0
90S |140 100 56 90 174 10|24 50 8 200 32 MBx18 |178 140 230|165 130 200 12 35 12 |115 95 140 M8 30
0L |140 125 56 90 174 10) 24 S0 8 200 32 MBx19 |178 140 230165 130 200 12 35 12 115 95 140 M8 30
‘|'I_:H_JL 160 140 63 100 205 12|28 60 8 240 40 Mi10Ox22 | 215 178 278|215 180 250 15 40 11 130 110 160 M8 35
112M [190 140 70 112 245 12|28 60 8 240 40 M10x22|220 190 302|215 180 250 15 40 12 |130 110 160 M8 35 11
132 |216 140 89 132 280 12|38 80 10 330 56 M12x28|275 210 342|265 230 300 15 40 12 |165 130 200 MiD 35 14
132M |216 178 89 132 280 12|38 80 10 330 56 Mi2x28[275 210 342|265 230 300 15 40 12 |165 130 200 M10 35 14
160M | 254 210 108 180 325 15|42 110 12 370 80 M16x36 325 254 414|300 250 350 19 50 13 |215 180 250 M12 40 13
160L |254 254 108 160 325 15|42 110 12 370 80 M16x36|325 254 414|300 250 350 19 50 13 |215 180 250 Mi2 40 13
180M |279 241 121 180 335 15| 48 110 14 425 80 M16x36|360 310 450|300 250 350 19 50 15 |
180L |279 279 121 180 335 15|48 110 14 425 80 M16x36|360 310 490|300 250 350 19 50 15
200L |318 305 133 200 395 19|55 110 16 490 100 M20x42 | 400 340 540|350 300 400 19 50 195
2255 | 356 286 149 22 g oY AW ATE 1007 M20 x 42 639 | 400 350 9 50 2
1 543515014&1353125 x42 | 445 414 450 19 50 210
55° 110° 16" 49" 100°/
225M | 356 311 149 225 435 19 M20x 42 | 445 414 639|400 350 450 19 50 21.0
60 140 18 53 125
60"/ 53"/
250M |406 349 168 250 490 24 - 140 18 T 125 M20x42[500 440 690|400 350 450 19 50 210




